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Aidan, Bill and Cara share sweets in the ratio of their ages.
Aidan is 12 years old.

Bill is 9 years old. ﬁ
Cara is 3 years old.

Write down the ratio of their ages. ﬁ
Give your answer in its simplest form.
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Jack and Harry are waiters in a restaurant.
They are both paid the same amount of money for each hour that they work.
Jack worked 6 hours and is paid £48

iy
Harry worked 8 hours.
How much money is Harry paid? |
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John has 12 cans of dog food.

He has two dogs and he gives each dog 3 of a can of dog food each day.

Does he have enough dog food to last one week?
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Heuwords

Ratio: a statemert of how two numbers compare.

Equal Parts: al parts in the same proportion, or @ whoke shared equally
Proportion: g statement that irks two ratios

Order: to plice g rumber n a defermined sequence

Part: a section of a whole

Equivalent: of equadl vabe

Factors: integers that multiply together to get the orgnal vaie

Scake: the comparison of something drain o fts actual size
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Heywords
Proportion: a statement that Inks two ratios

Variable: a part that the vale can be changed

Oies: horizontal and vertical Ines that a graph s pbtted around
Opproximation: an estimate. for a vabe

Scale Factor: the muttivk that increases/ decredses a shape in size
Currercy: the system of money used in a particular country
Conversion: the process of changing one variabke. to another

Scale: the comparison of something drawin to its actual size
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Beywords

Numerator - the number above the Ine on ai fraction The top number Represents how many parts are taken
Denominator: the number below the. Ine on a fraction The number represent the total number of parts.

\Whole: ai positive rumber including zero without any decimal or fractional parts

Commutative: an operation is commutative. if changing the. order does not change the resut.

Wit Fraction: ai fraction where the numerator s one and denominator a posttive integer

Non-unit Fraction: ai fraction where the rumerator is larger than ore.

Diidend : the amount. you want to dwide up.

Disr:the rumber that dues arcther rumber D
Quotient: the answer after we dvide one number by another e dvidend- disor = quotient

Reciprocal a pair of numbers that. multiph together to gue |




